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One who brings a w3 - ¥a NanRn

OVERVIEW

The term 3 means a document, including monetary documents. We actually
find in certain N1iwn and Mn»72 that the term b3 1s used for other types of
documents besides a writ of divorce. The question arises; why it is not
specified that the 71wn 1s discussing 2°w1 0.

mooin asks:
— 103 597 1) MOV INYYT 23 Y 9N
Even though the Xin of the miwn will also call other legal documents, not
only a writ of divorce, with the name w3 -
— @YY PPN 5291 NN VIN 5Y PRMN DITYN 1PN (2,75 47 1mp% NHIVYNA 1IN
As we learnt in a m1wn in n9wa P9, “witnesses sign on a w3, only because
of 22915771 17p°n” (the benefit of society) -
— MHVY D92 Y9N

And that 71wn is discussing all types of documents, not specifically 2°w1 "3,

and nevertheless the 77awn uses the term 3 -
= 1995 20 ONN Y91 PV 191 N3N ) (x,70 971np%) YAPNN PY93)

And in Sapn77 P72 we also learnt in a Xn>13, ‘and the same law’ applies to
1ws’, and X117 27 there explained it to mean, not 2wl °v°3, but rather

monetary documents, we see in this case that the term vx does not even include® v
ow1. The question therefore is; why it was not specified that our 71wn is discussing only
DWW SV,

mooin replies:
— NUN D) 1N “WI9Y TN NY DIPN Yo

" The text in our mwn reads: 09 wn 1I7°N %151 VAT DY AN 0TV

2 This is in accordance with the view of TV 27, who maintains that *n93 77°0% >7¥, and the purpose of v
7PN is a @01 NIPN, in case the 77°01 *7v will not be available to testify. This ruling applies to 0°w1 *v°a as
well as to all other n1vw.

3 The X » there is discussing the N1 of an arbiter, and X177 27 excludes 0°w1 *v°3 from that N1IMKRI, even
though the Xn>>"2 states "7 191

* It is evident that the question from the Xn>3, which excludes 7w va from the term 7% to be stronger
than the previous question from the miwn, which includes monetary documents in the term ©i. msoIN
however places the question from the 71wn first, because we are discussing the language of (our) 71wn.

> According to the X"w7n, our '0)n is referring to the X7»3, that it need not explain the fawn, however the
X1n never has to specify. See following footnote # 6.
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Nevertheless it was not necessary to specify that here we are discussing a

OWN UA -
= YK V)2 29N ONU V) NPT RI*D HMIPN 21917 DIvN

Because in the majority of places where the unqualified term w3 is used

we are discussing a 7WN Wi, and since our mWwn is using the term VX without
qualification, it is obvious® that we are discussing WK vi.

mooIn addresses a (seemingly) different issue:

— 2779 NH015%)2 V)7 0593229 99N VI3 MY 279 2N DINNNY NN
And as to the reason why it is customary to write (exactly) twelve lines in
a wvy; the n'"= says, that the letters of the word v are the numerical
equivalent of twelve’.

Another explanation® for the twelve lines in a 03
— MN923 990 2°NIT DIVN NXTYV 12729 OV PNR) RN 29 OV YNV PNNY 129
And the 3"1 heard the following explanation in the names of 7R3 X7 29
and (1X3) 77w0 29; because it is written in the 770, when referring to the
v, the term NIN®A2 999, i.e. a book of separation, this term alludes to —
— NN XYUNMIN NYIAIN 122 PPPID919N POV 277 NYIVYI
The equivalent amount of the twelve empty lines that separate between
the four 2>wmin of the *;in -
— 9901 990 Y5 192 1P00W NYAIN NINY T8V (3,0 97 NI N2 9INTH
As the X713 states in 8702 X322 ndon that it is necessary to leave four blank
lines between each of the 23999, i.e. o>wnn. This would however be sixteen lines,

% The commentaries ask, if it is not necessary to specify WX ©3, since b3 ONO means WX 3, why is it that
the Xn>>92 states 1°v°a? 191, even though the meaning there (according to X117 27), is only wn v and not A
TwX? The X"wnn explains that '01n never intended to ask why the 7awn did not specify nw va, for the Xin
does not have to be that specific (it is assumed that we understand his intention); rather N1901n question was
how come in 22pnn 79 the X3 explained the Xn*92 of U3 191 to mean 1m» 03, however the X n3 here
did not feel the need to explain the meaning of v3. The "1 offers an alternate interpretation. In 22pn;1 P12
it was not necessary for the Xin of the Xn™M2 to explain that we are discussing 7mn *v°3, because the
beginning of that same Xn>71 is discussing }3n7 °1°7; here in our 71wn however we are first starting out
without any prior knowledge of what we are discussing, therefore the 71wn should have specified awi "1,
if not for the fact that 3 anO MMPH 2172, means W31 V3.

7 This may be understood as a continuation to what N9 said previously that b3 ono is 2°w1 *v°3, therefore
it is understood why only by a va is it customary to write exactly twelve lines (the X vn°3 of ©3) and not by
other n1Mvw, even though the term Vi can mean any "0w; for ono Vi refers only to °w1 "v. See X"wInn
(7).

¥ This following explanation will not bolster Mo position that b3 oNo is WX va. See however 7372 K.

? There is a separation between; 1) N — NWXI3, 2) X3P — Mnaw, 3) 71271 — X3P, and 4) 02727 — 7272,
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why is a v3 only twelve lines? m»01n concludes:

— AYYNIY DD NNIWI AN NINX IIRY 2PUN XD NN NIWND 929% PPay Poan)
And the four line separation between 72722 w7 which begins with 927"
and 770 mwn, which is 22727 wnn, that separation is not counted, for mwn»

770 is merely repeating that which was said before'® in the previous oowmn.
We are therefore only counting the three (four line) separations of the first four owmn
which equal to twelve lines, and correspondingly the "mnmo 990 of a vx has exactly
twelve lines.

SUMMARY

The term v3 in the majority of places refers to a 7wX vi, Therefore we always
assume that vx onD is a AWK Vi unless there is ample reason to assume
otherwise. This is also the reason why a v3, is written with exactly twelve
lines, for the X>Mvnx of v3 is twelve. Alternately the number of blank lines in
a 770 190 that separates between the first four o°wnn adds up to twelve
lines.

THINKING IT OVER
Do we call it a v) because we write it in twelve lines, or since it is called a
Vi, we write it in twelve lines?

' Therefore it cannot be considered a complete separation, rather a minor distinction; as opposed to ba
which must be a complete separation. See 717 n210.

"' The 770 refers to a v as a MN™> 79D, in the sense that it is similar to the division (Mn™>) between the
0 790 of the 771N, in reference to the amount of lines in both instances.
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